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Choose the most appropriate usage to fill in the blanks in the given

sentence:

Maharani Gayatri Devi was a

A.gracious, elegance
B.graceful, elegant
C.gracefully, elegantly

D.graceful, elegance

B.graceful, elegant

and lady.
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Choose the option that best punctuates the given sentence:

The traffic policeman said don’t go that way as its not permitted

A.The traffic policeman, said, “ Don’t go that way as it's not permitted.”
B.The traffic policeman said, “Don’t go that way as it's not permitted?”
C.The traffic policeman said , “Don’t go that way? as it's not permitted.”

D.The traffic policeman said, “Don’t ?go that way as it's not permitted.”

A.The traffic policeman, said, “ Don’t go that way as it's not permitted.”
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Choose the appropriate preposition for the given sentence:

The police arrested Raju his accomplices.

A.along with
B.with
C.along

D.from

A.along with
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Choose the correct form of adjective for the given sentence:

It is to have an education to get a good job.

A.necessarily
B.necessitated
C.necessity

D.necessary

D.necessary
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Choose the correct form of tense for the given sentence:

When he the results, he got off the chair and with joy.

A.hears, jump
B.get, was jumping
C.was getting, have been jumping

D.heard, jumped

D.heard, jumped
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Choose the most suitable determiner for the given sentence:

Where should we go on holiday this year? Let’'s go where warm
and sunny.

A.no
B.neither
C.none

D.some

D.some
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C.80
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Answer: C.80

Reference 1D:(2653) Choose the option with the appropriate suffix to complete the given
sentence:

People should depict kind towards each other, especially towards their
neighbours.

A.-ness
B.-ly
C.-ment

D.-fulness

Answer: A.-ness
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Reference 1D:(2657) Choose the correct form of verb for the given sentence:

The little boy very fast to catch the bus.

A.was run
B.was running
C.isruns

D.has running

Answer: B.was running
Reference 1D:(2664) Choose the appropriate conjunctions for the given sentence:
The animals on the farm decided to hold a meeting discuss the matter;

the lion did not want to attend.

A.and, but
B.and, if
C.so, and

D.and, so

Answer: A.and, but
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Choose the option that has all words spelt correctly:

A.theif , receive , patience
B.thief , recieve , patience
C.thief , receive , patience

D.thief , receive , patiense

C.thief , receive , patience
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Choose the correct form of verb that is in agreement with the subject:

All the people standing together in a group and discussing the
problem.

A.is

B.are

C.has

D.have

B.are
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Choose the option that correctly spells the words to be filled in the given
sentence:

The of the school said that the boy behaved like an

A. principle , angle
B. principal , angel
C.principal , engle

D.principel , angle

B. principal , angel



Reference 1D:(2669) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The orator’'s comment about the recession was way off the mark.

A.very scanty
B.pertinent
C.inaccurate

D.premeditated

Answer: C.inaccurate
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Choose the appropriate possessive noun to complete the given sentence.

St. Joseph’s is a school.

A.boys’
B.boy’s
C.boys

D.boy’

A.boys’
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Reference 1D:(2662) Choose the appropriate prepositional phrase for the given sentence:
The college results have been good our expectations.

A.contrary to
B.contrary by
C.contrary with

D.contrary in

Answer: A.contrary to
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Out of the following options, choose the sentence that is punctuated
correctly.

A.One day, in order to have some fun, he cried out with all his might, The
wolf is coming! The wolf is coming!"

B.One day, in order to have some fun, he cried out with all his might, "The
wolf is coming! The wolf is coming!"

C.One day, in order to have some fun, he cried out, “with all his might, The
wolf is coming! The wolf is coming!"

D.One day, in order to have some fun, he cried out with all his might, ‘The

wolf is coming. The wolf is coming.”

B.One day, in order to have some fun, he cried out with all his might, "The
wolf is coming! The wolf is coming!"
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Reference 1D:(2655) Choose appropriate articles for the given sentence:

India launched ___first artificial satellite Aryabhata on 19th April 1975 at
____cost of about five crores.

AA, the

B.The, a
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Answer:
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Answer:
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Answer:

C.The, the

D.A, the

B.The, a

Choose appropriate articles to complete the given sentence.

Kumaranaashan is ____ Keats of Malayalam literature. Keatsis
Romantic poet.

A.no article, the, a

B.the, no article, the

C.the, no article, a

D.a, no article, the

C.the, no article, a
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Choose the most suitable conjunction for the given sentence:

The students tried their level best failed.

A.but
B.and
C.so

D.yet

A.but
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Which one of the following choices is NOT a complex sentence?

A.On feeling the winter chill, she wrapped herself with a shawl
B.She stepped aside to make room for the maid to go inside and serve tea.
C.On his arrival to the city, Ronny took time off to visit the monuments.

D.The Sheikh opened his eyes slowly.

D.The Sheikh opened his eyes slowly.

Choose the option with the appropriate question tag for the given sentence.

The Patils had a BMW,

A.didn’t they?
B.hadn’t they?
C.did they?

D.had they?

A.didn’t they?
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Reference 1D:(2651) Choose the correct form of the noun for the given sentence:

As a result of the of freedom fighters, the Republic of India was born.

A.determiners

B.determined

C.determination



D.deterrence

Answer: C.determination
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Answer: AT

Reference 1D:(2654) Choose the option with the appropriate suffix to complete the given
sentence:

Festivals are a great time for festiv and fest

A.-itiy, -ing
B.-als, -ity
C.-ing, -oons

D.-al, -ings

Answer: A.-itiy, -ing



Reference 1D:(2660)

Answer:

Reference 1D:(2906)

Answer:

Reference 1D:(2921)

Answer:

Reference 1D:(2927)

Choose the correct form of modal auxiliary verb for the given sentence:

We to have listened to her advice.

A.will
B.ought
C.should

D.must

B.ought
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Answer:

Reference 1D:(2924)

Answer:

Reference 1D:(2935)

Answer:

Reference 1D:(2687)
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Reference 1D:(2690)
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A.28
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D.18
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Reference 1D:(2693)
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Reference 1D:(2449) Choose the correct form of adjective for the given sentence:
Chapter 5 is Chapter 6 and both must be studied equally well

for the examination.

A.as important as
B.not so important as
C.the most important

D.more important than

Answer: A.as important as
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D.186

Answer: D.186

Reference ID:(2932) A+ 21,000 ¥UTFAT RN JdJUD g A Y= dhell. Hlal Algui-icR B
7 36,000 IUUHE HIRHE TgHFT ST, T RIact A=t T FHTONd
AT a1 Yddl. fobdl AR B 4 A Higd UFIGRT dail?

A.5 AfgH
B.5.5 Al
C.6 AfgH



D.7 AfgH
Answer: A5 If%e[

Reference ID:(2672) o} Td: HTH HUR 313’ IT AT DIt Ga-THIET BT UHR STl

3T ?

A S¥® Faaq
B . Tatft gdamm

C.3THAES I

D . I a1

Answer: C. 3T JdTH



